FULL VISION SHOWCASE
ASSEMBLY INSTRUCTION MANUAL

FRONT OF SHOWCASE REAR OF SHOWCASE

TORE SUPPLY WAREHOUSE, LLC
PHONE : 1-800-823-8887
-FAX 1 1-800-823-0004

WWW.STORESUPPLY.COM




FULL VISION SHOWCASE ASSEMBLY INSTRUCTION MANUAL
RECOMMENDED TOOLS FOR ASSEMBLY ' %'

@ _— @ RAZOR BLAD]LZ
N J

PHILLIPS SCREW DRIVER
PAIR OF PLIERS HAMMER

HARDWARE AND MISC. INCLUDED: (PACKAGED IN A BAG)

NOTE: ALL ITEMS ARE SHOWN ACTUAL SIZE: IF YOU ARE NOT SURE WHICH PARTS IS CORRECT, THEN PLACE
ON TOP OF ITEM BELOW FOR HELP DURING ASSEMBLY.

® II==m = O

& EA - BLACK FOAM BLOCKS

14 EA. - CAM LOCK PINS- | 2/4" L & EA. - SELF-STICKING
R N o FOR INSTRUCTION STEP 4 - SELE-STIOANG
SAME COLOR A
r\'ll'a.lrsE :ARROLU TIP SHOWCASE
MUST POINT TO % D > FOR INSTRUCTION STEP 7
THE HOLE FOR — ’ l ] ‘
CAM LOCK PINS TL‘ a
~ — —
14 EA. - 3/4"CAM LOCK CONNECTOR NUTS
FOR INSTRUCTION &TEP 2 ¢ 3 ) [
(CAM LOCK NUTS MAY ALREADY BE INSERTED INTO PANELS) \_/ — —
=) 3 EA. - STANDARD FOOTPIECE I EA. - DOUNTUBE HOLE CAP
FOR INSTRUCTION STEP 5 FOR INSTRUCTION STEF 1
12 EA. - WOOD DOWELS - 1 1/8" L
FOR INSTRUCTION STEP | ?
24 EA. - RUBBER CUSHIONS
@ INSERT IN CLIPS
008 BELOW

& EA. - PAN HEAD SCREWS - &/8" L 5 EA - GREY GLAZING GASKETS
FOR INSTRUCTION STEP 5 FOR INSTRUCTION STEP &

NI
7aaaaa JHIEP l \ \ -
& EA. - STEEL FLAT HEAD SCREWS -1 1/4"L 2 JI S
FOR INSTRUCTION STEP & E—
—9 F —— 12 EA. - SHELF CLIPS
~ FOR INSTRUCTION STEP &

2 2 EA. - FOAM TAPE STRIPS
3 EA. - STEEL FLAT HEAD sCREWS - I" L PROVIDED IN A ROLL
FOR INSTRUCTION STEP 1

FOR INSTRUCTION STEP &

WWW.STORESUPPLY.COM PAGE 1 of i




FULL VISION SHOWCASE ASSEMBLY INSTRUCTION MANUAL
PARTS INCLUDED INSIDE CARTON:

\ BOTTOM SLIDING DOOR
, TRACK WILL BE ATTACHED Z

DECK PANELS

2 EA
SLIDING DOOR PANELS

QEA.\

END PANELS “
2 EA.
LOWER FRONT I EA.
AND BACK PANELS UPPER SLIDING
DOOR TRACK
SHELF BRACKETS \\ -
3 EA - 8" LONG .
3 EA - 1©" LONG UPPER FRONT
' GLASS TRACK
3 EA.
STANDARDS
‘% | EA.
2 EA. TOP GLASS
8" GLASS SHELVES
i | EA.
FRONT GLASS

2" GLASS SHELVES

%““\" 6 2 EA.

WWW.STORESUPPLY.COM PAGE 2 of 1




FULL VISION SHOWCASE ASSEMBLY INSTRUCTION MANUAL
LLUSTRATION OF ASSEMBLY

SCALE: NONE

WWW.STORESUPPLY.COM PAGE 3 of i




FULL VISION SHOWCASE ASSEMBLY INSTRUCTION MANUAL

ASSEMBLY TIME APPROXIMATELY 11/2 HOURS
STEP 1 : WITH A HELPER

SCREW | 274" CAM LOCK PIN IN HOLES ON EACH OF THE END PANELS.
(SEE DIAGRAM "A")

TAP 1 1/8" WOOD DOWELS IN ON EACH OF THE END PANELS WITH HAMMER

(SEE DIAGRAM "1B")

\

L

STEP 1 - DIAGRAM "A’

SEE DIAGRAM "lA" FOR
LOCATION OF HOLES

DIAGRAM "A’

\
o

o
N

°

°
\

TYP. END PANEL e o

(RIGHT END SHOUN) o Q)
\/

/ STEP 1 - DIAGRAM B’

Q
SEE DIAGRAM "IB" FOR
L LOCATION OF HOLES

DIAGRAM "1B’
WWW.STORESUPPLY.COM PAGE 4 of 1l




FULL VISION SHOWCASE ASSEMBLY INSTRUCTION MANUAL
STEP 2 :

INSERT IN PLACE 3/4"CAM LOCK CONNECTOR NUTS IN THE HOLES ON DECK PANEL
LOUWER FRONT AND BACK PANELS (SEE DIAGRAM "2B) . (PLEASE NOTE THAT THE ARROW TIP
SHOWN ON TOP OF THE MINIFIX CAM MUST POINT OUT IN THE SAMEDIRECTION AS THE HOLE IN PANEL).
DO NOT SCREW CAMS DOWN AT THIS TIME, THIS WILL BE OUTLINED LATER IN STEP 3.

CAM LOCK
CONNECTOR NUTS|

DECK PANEL
BOTTOM SIDE i

CAM LOCK
CONNECTOR NUTS

DIAGRAM "2A"

BACKSIDE

e

CAM LOCK
CONNECTOR NUTS

m INSERT CAM LOCK CONNECTOR NUTS
<71\ INHOLE® AS SHOUNON DIAGRAM

//
o~
Q/ s S

T
7 X /‘\
i ///
St
NG
ARROW TIP

ON CAM LOCK NUT®

LOWER FRONT AND
BACK PANELS

DIAGRAM 2B’

WWW.STORESUPPLY.COM PAGE 5 of 1




FULL VISION SHOWCASE ASSEMBLY INSTRUCTION MANUAL

STEP 3 :

LAY | END PANEL ON GROUND WITH DOWELS AND CAM LOCK PINS FACING UFP. NOW
HOLD UP THE DECK PANEL OVER THE END PANEL ON GROUND AND LINE UP THE
HOLES IN DECK PANEL WITH THE WOOD DOWELS AND CAM LOCK PINS AND INSERT
THE DECK PANEL. (SEE DIAGRAM "3A") TIGHTEN DOWN 3/4"CAM LOCK CONNECTOR NUTS
(SEE DIAGRAM "3B") ATTACH LOUWER FRONT AND BACK PANELS IN THE SAME WAY.

END PANEL

DIAGRAM "3A”

°0

= DECK PANEL

CAM LOCK 0
g:ow ECTOR NUTS

=4

i
\DOLUEL

CAM LOCK PIN

\CAM LOCK PIN

SN

FRONT
PANEL

o0

DECK PANEL

Q

BACK
PANEL

CAM LOCK
CONNECTOR NUTS

CAM LOCK PIN

DOUWEL

MAKE SURE THAT CAM LOCK PINS
AND WOOD DOWELS ARE IN-LINE
BEFORE PUSHING DECK PANEL
ON END PANEL.

LT
)

C®

01
L.

.

080

-
\

DIAGRAM 3B’

_ e _\\\\
Sy

TIGHTEN CAM LOCK NUTS
BY TURNING CLOCKUWISE
TOWARDS THE PLUS SIGN

WWW.STORESUPPLY.COM

PAGE 6 of i




FULL VISION SHOWCASE ASSEMBLY INSTRUCTION MANUAL
STEP 4 :

PLACE & "BLACK" FOAM SETTING BLOCKS INTO THE ROUTED GROOVE ON THE
DECK PANEL (EVENLY SPACED) AND 2 FOAM SETTING BLOCKS INTO GROOVES
ONLY IN ONE END PANEL. (REMOVED PAPER BACK ON FOAM SETTING BLOCK AND PLACE STICKY
SIDE INTO GROOVE) PLACE GLASS FRONT PANEL INTO GROOVES ON THE DECK AND
END PANELS. (SEE DIAGRAM "4A") NOW POSITION THE OTHER END PANEL ON TOP BY
ALIGNING WITH THE CAM LOCK PINS AND DOWELS AS IN STER 3. (SEE DIAGRAM "4B’)
TIGHTEN DOUN CAMS.

ALIGN HOLES WITH

CAM LOCK NUTS AND
WooD DOWELS

N /
om | ]

™ BlLocks

FRONT DIAGRAM "4B’

=
XN

FOAM SETTING BLOCKS
PEEL OFF PAPER BACK

PUT STICKY SIDE IN THE
GROOVE

=7
/

N

N\

DETAIL @

WWW.STORESUPPLY.COM PAGE 7 of 1




FULL VISION SHOWCASE ASSEMBLY INSTRUCTION MANUAL
STEP 5:

LAY THE SHOWCASE RIGHT SIDE UP WITH FRONT GLASS FACING FORWARD.
SCREW IN THE 2 STANDARD FOOTFRIECES TO DECK WITH THE 5/8" PAN HEAD
SCREUWS. PLACE THE FOOTRPIECES UP AGAINST PLASTIC SLIDING DOOR TRACK
AND LINE UP WITH THE PILOT HOLES BEFORE ATTACHING. (SEE DIAGRAM "5A")
AFFIX GLAZING GASKETS SFPACED EVENLY ACROSS THE TOP OF THE FRONT
GLASS PANEL. (SEE DIAGRAM "5A")

fuid
<
3 EA. STANDARD
FOOTPIECES
(51) I 7
)// |
4 EA. GREY
GLAZING J
> GASKETS
+ (58 - I
N J

\,

DIAGRAM "5A”

DIAGRAM "5B’

WWW.STORESUPPLY.COM PAGE 8 of i




FULL VISION SHOWCASE ASSEMBLY INSTRUCTION MANUAL
STEP 6 :

LINED UP UPPER SLIDING DOOR TRACK WITH SCREW HOLES IN END PANELS
ATTACH TRACK USING | I74"L STEEL FLAT HEAD SCREWS FROM OUTSIDE FACE OF END
PANEL (SEE DIAGRAM "6A"). FPLACE UPPER FRONT GLASS TRACK ON TOP THE
GLAZING GASKETS AND FRONT GLASS PANEL. LINED UP WITH HOLE ON END PANEL
AND ATTACH WITH 1 1I74"L STEEL FLATHEAD SCREW FROM OUTSIDE. (SEE DIAGRAM ’6B’).
PLACE THE 2 SHELF STANDARDS INTO FOOTRPIECES AND ATTACH EACH SHELF
STANDARD AT TOP TO THE SLIDING DOOR TRACK WITH A 1"8&TEEL FLATHEAD SCREW.
(SEE DIAGRAM '6C’). BEND BACK TABS OF MIDDLE FOOTRIECE NWARDS USING
PLIERS TO HELP HOLD STANDARD IN PLACE (SEE DIAGRAM "6D").

SLIDING DOOR

SHELF
m/ STANDARDS

FRONT GLASS

USING PLIERS
BEND TABS
INWARDS

@ WHEN DONE IT sHoULD
L LOOK LIKE THIS

DIAGRAM "6D’

DIAGRAM "6C’

WWW.STORESUPPLY.COM PAGE 9 of 1i




FULL VISION SHOWCASE ASSEMBLY INSTRUCTION MANUAL
STEP 7:

FPLACE THE FOAM TAPE STRIFPS TO THE TOP OF THE UPPER FRONT GLASS TRACK
AND UPPER SLIDING DOOR TRACK NEXT TO LIPPED EDGE (SEE DIAGRAM "7A").
COVER DOUNTUBE HOLE WITH PLASTIC CAP (SEE DIAGRAM "7B").

AFFIX DISC STICKERS OVER SCREWS ON OUTSIDE FACE OF END PANELS

(SEE DIAGRAM ’7C").

INSTALL SLIDING DOOR PANELS BY LIFTING DOOR UP INTO TOP TRACK THEN
DROPPING DOUWN INTO BOTTOM TRACK. (MAKE SURE THAT THE DOOR WITH THE DOOR

PULL ON THE LEFT GOES NEXT TO LEFT END AND THE RIGHT GOES TO RIGHT, ALSO MAKE SURE

EACH DOOR IS IN A SEPERATE TRACK GROOVE. (AS A SUGGESTION PUT LEFT DOOR IN THE BACK

GROOVE OF THE TRACK AND THE RIGHT DOOR IN THE FRONT GROOVE). (SEE DIAGRAM 7D).

e

FOAM TAPE
STRIFPS

sLIDING DOORS NOTE:

USED RAZOR BLADE TO TRM
FOAM TAPE AS NECCESSARY

FOAM TAPE
STRIFPS

DIAGRAM "7A’ |
O O
—
|
|-
8LIDE DOOR || |
v ’ UP INSIDE
\ = |/ TRACK
UPPER SLIDING
DOOR TRACK

(D

DIAGRAM "7B’

| |
8LIDE DOOR '
DOUN INSIDE l |
|

Z” INSIDE OF
SHOWCASE TRACK

~ 17 LI

LOUWER SLIDING
DOOR TRACK

| I ——

|
Q Vg ® DIAGRAM "7D’

DIAGRAM "7C" | |DIAGRAM "7C’
WWW.STORESUPPLY.COM PAGE 10 of 1




FULL VISION SHOWCASE ASSEMBLY INSTRUCTION MANUAL
STEP 8 :

INSTALL THE SHELF BRACKETS, CLIPS, AND GLASS SHELVES THEN SET THE
TOP GLASS IN PLACE AND YOU ARE COMPLETE.

WWW.STORESUPPLY.COM PAGE 1l of 1




